Week 7
Monday 4th May 2020
Yr 5- Varied fluency
Please click on this link for more information: https://www.bbc.co.uk/bitesize/topics/z4nsgk7/articles/zwbndxs

[image: ]








[image: ]
	
[image: ]
image1.png
Imperial Units

Imperial Units

1a. 1f 2kg = 44ibs, circle the
measurements that are less than 20kg.

44lbs 15lbs.
45lbs 27lbs
78lbs 39lbs
46lbs 88lbs

heig

1b. f 4kg = 8.8Ibs, circle the
measurements that are more than 88lbs.

69kg 12kg
39kg s1kg
30kg 41kg
44kg 28kg

b

2a. True orfalse?

I 1inch = 2.54cm, 10 inches = 25.04cm.

heig

2b. True or false?

If 2inches = 5.08cm, 20 inches = 50.8cm.

- %

3a.1£10 pints = 5,680ml, how much is
equivalent o 1 pint? Circle the comect
measurement.
56.8ml  5,8600ml
68.5ml 568ml

hig

3b. 1 30 pints = 17,040, how much s

equivalent o 3 pinis? Circle the correct
measurement.
1,704ml  1,740ml
17,004ml  1,470ml

- %

4a. Fillin the blank below.

I 1inch = 2.54cm, fen ducks will measure

10inches

4b.Filln the blank below.

I 1inch = 2.54cm, one book will measure.

10inches
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Sa.1f 4kg = 8.8lbs, circle the
measurements that are less than 24kg.

50.8lbs 42.06lbs

88.8lbs 51.9Ibs

91.2lbs 55.3Ibs

34.11bs 64.7Ibs
P

5b. If Skg = 11bs,
measurements that are more than 56lbs.

52kg 61.5kg
13.4kg 23.5kg
18kg 30kg
s6kg 24kg

P

4a. True orfalse?

112 pints = 1,136ml, § pints = 3 480ml.

6b. True or false?

13 pints = 1,704ml, 12 pins = 6 816ml.

% %
7a. 115 inches - 12.70cm, how muchis | 7. 115 pints - 2,840l how much s
<quivalent o T inch? Circle the coect | equivalent fo 20 pints? Circle the comect
measurement. measurement
245cm  2.55cm 11,305ml 11,306ml
2.54cm  2.461cm 10,306ml  11,360ml
% %

8a. Fillin the blank below.

1f Tkg = 2.21bs, 5 paint pots will weigh
bs.

o

x>

8b. Filln the blank below.

1 2kg = 4.41bs, 2 boxes will weigh
bs.

4
O
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9a. Circle the measurements that are less.
than 42kg.

100Ibs 125.8lbs
88.8lbs 99.2lbs
76.8lbs 54.9Ibs
92.01lbs 93.5lbs

h24

9b. Circle the measurements fhat are.
areater than 33lbs.

12.8kg 5.78kg
20.91kg 65.49%g
10.53kg 17.98kg
30.76kg 5.96kg

b2

10a. True o false?

8inches = 21.32cm

h4

106, True or false?

1524cm = 6 inches

h4

11a. Circle the measurement that is
equivalent fo 2.5 pints.

1,420ml 14.20ml

1,204ml 12.04mi

h24

11b. Circle the measurement fhat is
cquivalent o 6.3 pins.

35.784ml  357.84ml

3,574ml  3,578.4ml

b4

12a. Filin the blank below.

Six pieces of bamboo would measure

12b. Filln the blank below.

Eighleen flags would measure.





